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of a binomial distri
parameters n and p &I-w" nial dlStﬂ'{m

probability distribution is

- Biw.disffibution

b Poisson distribution
Normal distribution
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T PYQNow. 19
: mode when n = 15 and p = 1/4 in
binominal distribution?

. iad

lnabiwmull ial di
n=4,P(x=2)=3P(x=3)find

|/ 1/3 = b¢ mp

at a point > mean * 12
syllabus
with probability for heads as 1/5 is
00 times. The standard deviation of the
turned up is.

e

=

90 trials, then the standard

ominal variate with p =1/ ,for the
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Theoretical Distributions

iial Distribution

Wiarh - PYQJun23 Binon
(15) The incidence of skin diseases in a chemical TR .
plant occurs in such a way that the workers ‘Mock Test Paper Questions
have 20% chance of suffering from it. What is _ )
the probability that out of 6 workers 4 or more
will have skin diseases?
a. 0.1696 b.
0 and 4 respectively; q will p,
‘ b. 1044 &=

0.01696

If mean and variance of a ra
which follows the Binomial Distribution are
and 6 respectively, then the probability of

SUCCesS 1S:
a. | » ; ; LVA X 5 i
‘ T I Distribution is 4 and 1,
: hausthemlue
b U4 8 Ofp

For a”bmbm 1
standard deviation @ 0l

Note: Skeu

/

@ Abin




; ,niﬂl distributiﬂn is (16 L ! b s » ‘ ;
AV ,ﬂo’ r symmetrical : ) Wh“t. is the probability of getting exactly 2
::ever positively skewed head in 7 tosses of a fair coin?
qever negatively skewed : % ‘154 b. 764
g vmmetrical when p: 0 5 | | ‘ .8 PR di 21/ B8

et : - m May L o i (34 £

The MAax- oalue of the variance of bihomw

distfibution with parameters n and p is

a.
[

Ifxgyaretwoindependg_ht 0a;

np(1-p) d. 2n ; /5)

ghat x~ B(n,,p) and y~B(n,
parametef of z=X+y IS
a.

c




Theoretical Distributions

ec 22 -
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i RE T RN MTPApr21 1 AR RS i T Seripg ;
@23) Ifx & y are two independent variables such 31 Ex;"”';; ;:::rzahs:tvyia‘:{o n )ofbuowa ing: Me
that x~ B(n,,p) and y~ B(n,,p) then the g e : b’"”'nial
i . distribution are 10 and 4 respective:
parameter of z = Xy is i NotValid ~b. Valid

a. (nqm)p b. (n,-m)p ~d.Neither 4 ﬁwB

¢ (nin )2p d. Noneof these

(24) An example of a bi-parametric discrete Lt/ If he fires 7 times,

2l

Probability distribution is
a.  Binomial distribution
b Poisson Distribution

¢.  Normal Distribution
d branch accounting

e target at least twice is : * ,-

(25) In a Binomial Distribution B (n, p. ,
P(x=2)=3P(x=3)find P
v o U3 b.

6/4 d

nomial distribution n = 9 an
: thevalueofVarza g sl




ino mzal varlate w1th paraméter 15 Gt Y  MTPJ
’f mean 6’ oariance are5 and 3 respectmely

¢ is mode of the distribution?

wha
/18 13/33and 6 then relation between p and q is:
- 550 P29 b. p<q
on 'p is lorge than 0.5, the Binomial 47)  Find the variance of binomial distribution
g with n=10,p=0.3

(39) Distributz

Asymmetrical b. Symmetrical gl
: Both d. None of these
MTPDec 2023 .

A die is thrown 100 times if getting an
W cven number is considered a success then

the variance number of success.
290 b 2
210
@) The .standa{d dev
distribution 1S
a. -4
'n u fol
With E(x)= ZandV(x) =1.2, then
'.ts
42) : 4

d. Noneof these

100 times if ggtting an even

nd infinity.



Theoretical Distributions
(54) X is a binomial variable such t’l::t 2 (4) e 2 Poisson distribu;i;n.ifP(J‘ci- 4)’=P(
P(X=2)=P(X=3)andma1noins own e parameter of Poisson istribuioy <
to be 10/3. What would be the probability that ;’f‘"‘ % 6.3 nis;
X assumes at most the value 2?7 5 4
a.  16/81 b. 17/81 p oG
C. 47/243 d. 46/243
AnswerKey For a poisson distrivu’tm-,.‘.
A = : " smean and SD are equal
A ki g mean and variance are
7 d b R
0 b 11 a
13 a 14 b
16 d 17 a
19 % 205 ¢
22 23 g
25 a 26 ¢
28 a 29 @
31 a 32 a
34 b 35 ¢
37 T 3850
40 b 41 b
43 a 4 d
46 b 47 :a_"."
49 d 50 ¢
52 b S5

Poisson s

Past Year Questic

F'h. 06559 =

o

d. 08201

D

] ozsson:‘ var X, X = 3F
the standard deviation of Xis
2 g ity T

4 coins were t.
probability that all 4 coins do not




% " /',,5

| P s ool P - USPlge *Pecial room s avilable, What 75 g

e 5 b f:o:a Wl that more than 3 patients i
‘ 2. g quire special room facilitips?
3, & ".2235 d 03450
B =g W
2 Q) June 22
it S s zI;fa i:ndard Devtatton zsI 732 then whatgsthe
£ Whichone of thefollowmg iSan “"!Pammetnc 0y ;;f poisson distribution. The P (3.4 < x
P ribution? is
4 Poisson & ‘0'7 3 aacion b, 0,65
Normal
b.
. Binomial {
d Hyper geometric , '

(4) The average num

[ and 10 AM, the average
z" alls W minute comino o

of a company is 4. Find the

: 'nn one particular minute,
page appearing in a er 2 f}honepcalls or no phone
the probability ¢

number of adve

0018316) o Ej
| b. 0155 I

=3)ﬂlenthesta l
istribution is:
7 e 3 g
i




Thenumberafacadc
taxi drivers in a
d's‘r’buho" u,lth av(rag(v

drivers of £
drivers with at leas

(Given

a.
C.

) In

c
d
a
b
b
d
b
a
b

hat area, wlmt
t 3 accl

that e = 2.718)
180

b.

-
&K e

1all time interval (t, t+td),3thma

positive constant k.

%‘%ﬁ* o

defective (Gwen e

Which one is umparametnc dlstribu hon?
pinomial p. Poisson
Narmal :

d the robabzl ty that at least 5 de Yd9.
lf;;tts w: f fo ud in a box of 200 bol fsf;fc::oe
known tha % of such bolts are expected g,

-4 —(.0183)
0.47 17 b. w377
arty e MR s

(o

a.




4 Poissot distribution,
meatt and standard deviation are equal
mean and variance are equal.
gD and variance are equal.
poth (a) and (b)

For Poisson Dtstnbutzon
Mean and Standard Deviat
equal

equal e
Both (a) and (b)ar ua

oompany are 4
distribution to

& Lot

Chapt
pter 16 /.-’ Theoretical Distributions

Nuvevien

(19) For a Poxsson oanate X P(x-I) —P(x-Z) what
is the mean of x?

(20) In a Potsson dtstnbutton‘zf P(xmﬁ P(




ke mmmswg e
(26) The probalnmv than a man aged 45 years u;;w e
die within a year i 0.012. What s A ” g
probability that of 10 men, at least 9 will e : g8
their 46th birthday? [Given ¢ 012 =0.88692 3346
a. 00935 b. 09934 % 4
c. 09335 d. 0.9555 2 P
: MTP June 24 Series L. ;
27) Ina certain manufacturing process, 5% of the -

tools produced turn out 0 be defective. Fin
the probability that in a sample of 40 tools,
most 2 will be defectme: Given: ¢ =0.135
a. 0.555 b 0932
c. 078 d. 0 675

istribution

28)
is 2, then its Mode
R 2
¢ 3and4

29

a.

small time interoal ( t, t+d) is Kt fur
a positive constant k.

¥ The mean  of Pozssondzstributwn is
probabthtyofuvo-suocesses in i



s of inflexion of vormal i hrotabiity that the length of time wit pe

lf mcf’ respgctwely, then mean deviatiop js: belw”" 50 and 70 hours is
8 b. 45 (given g 1.33))=0.9082,p(0) =0.5)7
b g0 Lot O o -04082 b. 05
(5 50 b8 4 / ~‘ 1 ) TR e . - 0'4082 d - 0.5
e g under 130 (f% . PYQDeet
B o7 b 99% Letxbe norma distriution with mean 2.5 and
b 100% d9937% variance 1. If Pla < x < 2.5) = 04772 and that
v the cumulatioe normal probability oalue at 2 i
whatis the mean and SD 0.9772, then a~ 7
) J— a. 05 b. 3
. f(x)=—£e“2"“3’2 0 <X <o Lo
1 if Jn - 7 ;
g gt

o Ifwe change the P

distribution the shape bfprob

not change. = :

a. Normal :
b.  Binominal s of a number of bikes follow a normal
c.  Poisson ion model with a mean of 83 km/hr
d

Now Cabisin standard deviation of 9.4 km/hr. Find the
ity that a bike picked at random is
(10)  The quartile dev s ravelling at more than 95bn/hr.?
with mean 10 ar b GenP1-01003.
% 54.24 .

0,

tandard Normal distribution, then the
of the mean(p) and SD (o) is:

: 1y=0,o=' b u= O,a 1

)" are independent normal variate
”‘»and SD p,,p, and 0,0,
n for z=x+y which also
stribution mean and SD are'
W, SD=\o +0;

ol +03l2
:D=,'O’: 'l-,O;I 2
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22)

(23)

on, the rano of mean

For a normal distribut
deviation to the standard deviation Buiaa :
e 04 b. 06 ¢ 4.24 S8
C. 0.8 d. 1.0 m ”24 . rf:‘ 5 é“{ (~ = }":- f;e’.f o Vi
: tribution skewm
In a class of 100 students, the mean marks was @3 Ina nogmal distr it 3s 83y
50 with Standard deviation 14.9. Assuming & 23 it 1
the distribution of marks to be normal, find the s :
number of students who obtained more thar FE - I T .
20% marks (at 2= 1.34, area = 04099 TF s ""””1’ oy i of the normal cypy,
a. 9 b. 10 (h) et R
c 8 f 4~/2-; g
Quartile
with Mean of 10
S T
c 0675 Y e \'
oariables with mean as. 10 P ‘Of(XtX)Z
: b. 180,25
“ o5 : oU,
Standard Deviation (S.D) as 4 180,0
t about finding SD or Variance -

respectively, then (X_;a +Y)

distributed with:
Mean = 22 and S D =

fe Variance but answer as per the

";‘-1;

a

b.

Ci Mean =22 - SR mir

i : = b N , al variate with mean 6




R g
i 2 W TR e e w r ey o g
'e'}- PR ¥ ‘:‘W&‘:{r "e;ﬁ? } S‘" 5
: P 19

(17) 1Fxand yare o independent normal :'d

E 2
7 poi e distributions with mean and SD's are (10, 5)
J et uate the Poisson parameter o the an ( 1;52 712; Sthm mean and SD of (x+y) is.

b ean of the frequency distribution c: (25'1 3 )) Z (;g' 27)
- equate the Pozsson parameter to the Ftﬁq B, Lo (12,25)

: gays o ie 2
we equate the Poisson parameter to the 47.30 and 52.70 respectively, wha

G ode of the distribution : TESECtOng) ORal. 8 (i Mocs

4 none of these '

bﬂPaﬁW 9 fes il
The mean deviation about median of a
(ﬂ) Standard normal variate is :
a. 06750
. 0800

1) If the poznts of 1'§ﬂean ofa
40 and 60 respectively, then its
g L85 d b, 45 )
: 0 mﬂean ofanormalcuroe are
ively, ‘he"ffsmandevzatwn

’ and variance is

:‘ O

70




Al vl el ;
) The total area of the normal curoe is

a. One

b. 50%

¢ 050

d.  Any value between 0 and 1 ._
TN ;  MIPApr21
(26)  For a normal distribution with mean 150 and

SD is 45, Find Q1 and Q3

a. 119.35190.65 b. 119.65,180.35

o) 180.35,11965 d. 1 23.45,183.6§

(27) The normal curoe is

a.  Positively skewed
b.  Negatively skewed
¢.  Symmetrical

d.

All these
(28)  For a normal dlstlon 1 =54.32 o

ey LA B
5659

%
(29) What is the mean of X iz;vtné the followin
14

.
(B0) What is the first g

following prob
1

72n

F(x)=

X fo rmal distribution
nd 0 = 10, what is value of P(x <
08413
0.1587

AN L] Wiﬁﬁ

MTP Nov2l

(34)

(35)

a.  10.00. v b

‘An example 0
probability di

normal distribution with meqy, S
::(ri ;D as 120, what is the value Ofk: S0p
the interval (500, ki covers 40.32 per
of the normal curve? [Given (1.30)= 8:?
a 740 b. 750 2)
¢ 656 d. 800
sl gty o . MTP¢
the mean deviation of a normal
;f6, what is its quartile deviation? b is

£

Shc

15.00.




fNonnal Distribution is ~ (49) TP Dec 2023 Series T
kgtl' G gaflve b.  Positive 'f the two Qlwrttles N(p, o) are 146 and
41’ b gm0 d.  Undefined 254 respectively. What is the standard
. MTP June 2023 Sepips - deviation of the distribution?
peeds of bikes follow a normgl L b. 6
g ™ sution model with a mean of 80 k. ?:. g .‘.10, r— d .8 .\
“ dsd standard deviation of 9.4 km/hr. Find the - MTP Dec 2023 Series IT
pability that @ bike picked ot random is (50) T"e “’“g"“ °f workers of “f““oryﬂlows |
m,vellmg at more than 95 km/hy.? % Blmlal distribution
(plz)=P(L60)= 04452} ~ b. . Poisson disripution
00548 b. 038 Tl Nmmzl:b
c 0.49 d 0278
|  MTPJune 2023 SeriesIt. (1) If the infle S of & Norw
®) Which of the following is not a property of . Distributio Pmd il&SW i j
normal distribution? :

a.  Thereare two mtsof"gﬂexw i
b.  Mean, median and mode coinc

c.  Skewnessiszero
All the above

i 6l
& & i

@44) Fora continuouslmu‘

standard deviation (S.D )

wn 1S e
B 1 40D=5%D
D d 3QD=2SD

@45) If the in TP Dec 2023 Sertes 11
'{ ing is not a characteristic
obability distribution?.
; ,‘the normally distributed
,'nlmatthecentreoftts
curve. :

lti-modal
, dumandmodeare.

obt ic curve

+30) covers

istribution
butwn ’
ribution

. of a normal
48) ‘




rheoretical Distributions .
— e 7‘ k“” i Ih}‘ ;;ﬂ"‘ﬂq '}"1.'.‘» E Sep = o P
f(x)= 1 (Pm’[or-—oo<x<oo (65) If the two Quarﬂles N(p,o )an 145
W 254 respectively. What 'S the sty
8 ? . tion of the distribution? MW
5 -0 d None of these .

USSP s JETEE

(57) lf the mean deuumon of a normal pariable 15 w3
tion? o
(81)

16, what is its quartile devia
a 10 b. 13.50 pariable X 15 given
C. 15 d. & : 1 _n_;g)’

ofa nonnal dnsmbut:on 4
dard deviation 4 is b. o i

(58) The quartile deviation
b 67.50. ke BT

with mean 10 and stan

(59)

a. 26 - 3 .
24 . S Ll A0CTEC weekly food expe"d‘t“'a
toup of families has a normal distributigy .
il mean ¥ 1,800 and standard deviation 3
What is the probability that out of 5

(60)

a.
: :
lies belonging to this group, at least one
has weekly food expenditure in excess of

(61)  Thewages of workers of @ fa
i 002 Given f(1) = 0.84.

0.418 b. 0582
: - d. 0614




a

20
23

24 d

27 ¢

b

26

(ST &}
o ™M
on ™M
= =
o O
ol M
= O
_a [

36 a

C

35




